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General Instruction
ATATT ferder :
(i) All questions are Compulsory
Jaft weoer aiferaret &
(i1)) Question Nos. 1 to 20 are Multiple choice type which carry 1 mark each.
U JFJAT 1 A 20 dPb JgABcdT U & forasl u&as &1 AT
1 3im B
(111)) Question Nos. 21 to 27 Fill in the blank type which carry 1 mark each.
Uel AJIAT 21 A 27 Raa emel & gid I ddfeg uear & orera
A UAPB BT AT 1 36 8|
(iv) Question Nos. 28 to 34 are very short Answer type which carry 2 marks each.
Uoe JFJAT 28 A 34 dob 3Mfad og ITAT U & forahr us=ws @wbr
AT 2 3iF 2|
(v)  Question Nos. 35 to 39 are short Answer type which carry 3 marks each.
U JFJAT 35 A 39 ddb og IAAT U & ToTadr U &1 HATe
3 3k B
(vi) Question Nos. 40 to 41 are long Answer type which carry 7 marks each.

U9 HJAT 40 A 41 db g 39T Ued & TSt uDs b1 AT

7 3iB B
(Multiple Choice Type Questions)
(@gasedi=r wee)
1. Constituent particles of CCl, are
(a) Ions (b) Molecules
(c) Atoms (d) None of these.
CCl, &r 31adt o 2
(a) 3T (b) 3191
(c) URHATY (d)STH A HIs <&l
2. For the reaction, aA + bB  —> Product, rate is
1 1
(a) K[A]'[BY (b) K[A]“[B])
(b) K[A]'[B] (d) None of these.

33T aA +bB —»3dTe, & fo@ dor B



1 1

(a) K[A]“[BY (b) K[A]“[BY
(c) K[AT[BY (d) None of these.

Copper Pyrites is an are of
PIUT UTSISS 31AUXH &

(a) Cu (b) Al

(c) Fe (d) Zn

Group 15 elements are Known as

(a) Nitrogen Family (b) Oxygen Family

(d) Halogen Family (d) None of these.
Tof 15 B ded e S &

(a) STSSroTel Uf¥dare (b) 3fTRAIGIer ufRdar=

(c) citorar uf¥amr= (d) s A BIS et
Sc is:

(a) Second Transition series element (b) First Transition series element
(e) Third Transition Series element (d) None of these.

Sc &:
(a) Tgd=r Jpaor Aol aca (b) Uerd JhaoT Foft daa
(c) TN AsHUT ot T (d)SaTH A BIS =18l

Anhydrous. Alcls C,Hs

(©) +C,HsCl > @ + HC

The reaction is

(a) Finkelstein reaction (b) Friedel Craft reaction
(c) Fittig reaction (d) None of these.
31T A1C13 C2 H;
(@) +C, HsCl > (0 +HCI
arfarfeeaT 2

(a) Thehorzarsar  31farfehaT (b) WHIseT hite 3TTaTfehaT

(c) Topcor  3tfarftepaT (d) e A BIg et
Ethyl alcohol Cu/573K | A
‘A’ is

(a) Ace tone (b) Propionaldehyde

(c) Acetaldehyde (d) None of these.



10.

TITer Uehigiar Cu/573K A

»
»

‘A’ %—

(a) TAeE (b) Mit=N=fesarss

(c) THIclcsass (d)zed A BIE STt
Acetaldehyde + 4 [H] Zn — Hg/Hcl R A
‘A’ is

(a) Methane (b) Propane

(c) Ethane (d) None of these
CTAlcicsarss +4 [H] Zn — Hg/Hcl
cA’ %

(a) RS (b) urdrer

(c) B (d)STH A HIs <TEr
CH;-CO-CH;+4HI RedP A+H0+21,

420 K

‘A’ is

(a) Ethane (b) Methane

(c) Propane (d) None of these
CH;-CO-CH;+4HI RedP A+H,0+21L

420 K

‘A’ %—

(a) AT (b) AT

(c) U<t (d) ST A BIS Er
C2H5 NH, + HONO NaNO, + HCI Product
the Product is

(b) CH; OH (b) C,H5;NC

(c) C,H;OH (d) None of these
C,Hs NH, + HONO NaNO, + HCl e
3dE & -

(a) CH; OH (b) C,Hs;NC

(c) C,H;OH (d) None of these



11.

12.

13.

14.

15.

16.

17

Molecular formula of Aldotrioses is

(a) C3Hg O3

(¢) CsHjpOs
UcSIgRIA &I 30-AH & -

(a) C3Hg O3

(c) CsHy Os
Monomer of Polythene is

(a) Propylene

(c) Vinyl Chloride
UTciefleal T Ukhclsd & -

(a) UraTSEle

(c) arsferar TFAIRTSS
Formaldehyde is

(a) Disinfectant

(c) Antibiotics
wrafessTss & -

(a) STTAHHUTBIST

(c) ufaraiferss
Aluminium hydroxide is

(a) Antacids

(c)Antihistamins
TgHifera arggiaarss 8 :

(a) ufa3rder

(c) ufafe=eirer
Formula of copper glance is

(a) Cu,S

(c) Cu,O
BTUT ocTled bl I &

(a) Cu,S

(c) Cu,O

Structural formula of 1-Chloro butane is
(a) CH3 - CH2 - CH2 - CHZ -Cl
(C) CH3 — CH2 — CH2 — CHZ — CHZ Cl

(b) C4Hs O4
(d) None of these.

(b) C4Hs O4
(d) None of these.

(b) Ethene
(d) None of these.

(b) wefter
(d) ST A P 81

(b) Analgesics
(d) None of these.

(b) dIsTETSY
(d) s A P 8r

(b) Antiseptic
(d) None of these.

(b) Ufcr=reft
(d)seTet J PIs a&t

(b) CuFeS,
(d) None of these.

(b) CuFeS,
(d)seTet J PIs &at

(b) CH; — CH, - CH, -Cl
(d) None of these.

1-FAR RIS BT AZTATHSD I &

(a) CH3 — CH2 — CH2 — CHZ -Cl
(c) CH; - CH, -CH, - CH, -CH, Cl

Molecular formula of sucrose is
(@) C1o Hyy Oy
(b) Cs Hyo Os

JhIA BT 3T I 8
(@) Cio Hyp Oy
(¢) Cs Hy Os

(b) CH; — CH, — CH, —Cl
(d) getdHd A B a8t

(b) Cs Hi» O¢
(d) None of these.

(b) Cs Hy» O¢
(d) st A BIs et



OH
|
1 8. In the reaction, 2 @ +2Na — A+H,

‘A’ is
ONa
@ © ® ©
CHO
(c) @ (d) None of these.
OH
In the reaction, 2 @ +2Na — A+ H,
GA” iS
ONa
@ © ®
CHO
© () )=t ¥ B S
19. Inthereaction,2 CH; COOH+2Na ——» A +H,
“A’ s
(a) CH; COOK (b) CH; COONa
(c) (CH; COQO), Ca (d) None of these.
3rfarfep=r, 2 CH; COOH + 2 Na——» A + H,
“A’ %
(a) CH; COOK (b) CH; COONa
(c) (CH; CO0O), Ca (d)STH A HIs <T&f
2 0. The Oxidation number of Co in [Co (NHj;); Cl]2+ is
(a) +4 (b) +6
(c)+3 (d) None of these.
[Co (NH3)s CI]** & Co BT 3iTeciiehor J==T &
(a) +4 (b) +6
(c) +3 (d)BTH A HIS <T&f

(Fill in the blank Type Questions)
Rera zemat @& 813)
2 1. For the reaction, NH; NO, — N, + 2H,0 molecularity of reaction is ..............

stfartgear, NH,NO, ——» N, +2H,0 & forw, amfdfceenr o5 a3nfoawar



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

In the extraction of copper, the reaction is FeO + Si0; —»

PpraT b forspuor A, sifdrfeear & FeO +Si0, —»

The electronic Configuration of Sc [Atomic No.- 21] is

Sc [URATY H0-21] BT ScIaSiterds [TemA & ..........

In Cationic Complex, [Co (NH3)6]3+ , number of ligands are ..............
erereafered Feget, [Co (NHi)e]™' &, Toforesi ot wiwem & ...
IUPAC Name of CH; Cl is ..............

CH;Clwsr IUPACHETH & ..........

Example of Primary amine is ..............

urerfdes Ualel bl ISEI0T & o

(Very Short Answer Type Questions)
(a1fr g 3T ween)

Distingiush between E.M.F. and Potential difference.
SOTUHOUWO daT fasaiar & e &2
Write the type of colloid and dispersion medium of Paint.
Uc P Biddlss Bl UblR dAT uf&igor HATegH o= |
What is Raoult’s law?
I3ec Bl forrar =T B ?
Explain the following terms:
(a) Physical adsorption
(b) Lyo philic Colloids
fordet Uel Bl JAASTSC:
(a) aNfcres  31ferenwor
(b)ga A&t
Predict the Product :
3dre Idrsu

(a) C,HsBr KOH (aq)
—_—

(b) CH; COOH + PCl;

v

Differentiate between globular and Fibrous Proteins

ISR deIT INMTABIBIR Widkel &I faAfaa Hsifee |

Explain the term Co-Polymerisation and give one example
AedgcIhel UG &I ITBAT BT 3R Uk 31801 dfeiw |

(Short Answer Type Questions)
(g 3TAT Uea)

The density of chromium is 7.2 g cm™. If the unit cell is a Cube with edge length of



36.

37.

38.

39.

40.

289 pm, determine the type of the unit cell. [Atomic mass of Cr = 52g mol ']
HIfHATH BT Teled 7.2gcm”. 8| AE Uebeh hIfexbl HAIT & a BT &bl

STFITS 289pm Bl dl TUdbds hiftehl bl Upla fereriRa &Sifsiw |
[CrehT UTHATY] EeToT = 52g mol']

A reaction is first order in ‘A’ and Second order in ‘B’

(i) Write differential rate equation.

(i1) How is rate affected when the Concentration of B is tripled?

U 3ffarieeanr A ufd uerd hife dem B ufad fadir oife o 2
() 3TaeheT doT JAHTBOT A== |

(i) Ba ATezar oiel 9fell el A AT UT T=IT UHATT TSI ?

What is Kohlrausch’s law?

PIARIST BT foTIad =T 8 ?

Write short notes on the following:

(a) Finkelstein reaction (b) Rosenmund reduction
(c) Etard reaction (d) Cannizzaro’s reaction
feraatiaiRaa uT Jféra feoooft forsi:

(a) Wb cerser 3ifariepT (b) Joterds st
OEZERSIEIEE] (d) Bferemrzr  arfartepa

Complete the following :
reeiaRaa &1 g@r &< :
(a) 2KMn O, + 3H,S —
(b) 2KMn O, + KI + H,O —
(c) 2KMn O4 + 3 MnSO, + 2H,0 —
Calculate the molarity of the following Solution :
(a) 30g of Co (NOs3), . 6H,0 in 4.3L of solution.
foreafaiRea [ae=rar @5F HAlei=zdr @51 a1oTaT Bifeiu -
(a) 30g of Co (NO3), . 6H,0 T 4.3L faersrer & geir & |

(Long Answer Type Questions)
@ ITI=T Ues)

Discuss the general characteristics of Group 15 elements with reference to (I) atomic
radii (i1) Oxidation state (ii1) lonisation enthalpy and (iv) electron gain enthalpy.
Jof 15 & dcdl & ATHT IJPUITHA! Bl Iad (i) g=ATvas Breard (i)
3iTeRNIBoT 3razerm (i) 3MTelel TWedadl Td (iv) Soidgiel Ulitd TUedoul
* AcH FH T&ager w2

OR / 3terar
Draw the structure of the following Compounds —

fereaaferRaa ANPBrep B JATger I
(@) Se (b) XeOF, (c) H,SO3 (d) H,S,03

(e) Py (f) H3PO, (g) H3PO;




41.

Write short notes of the following :

(a) Finkelstein reaction (b) Rosenmund reduction

(c) Etard reaction (d) Cannizzaro’s reaction

fergartaiRaa uT Jféra fewoft o=t

(a) Trbe=erger 3ifarics=T (b) Jorerdgs STTafhRaT

(c) sers arfarfrar (d) Bferemrzr  arfartepa
OR/3terar

Identify ‘X’, ‘Y’ and ‘Z’ in the following :
foreafaRaa & ¥ X0, Y derm ‘2’ &bl usdra

SocCl
(a) CH;COOH "2, X H, pd v
BaSO,
( ) 2 2 r . X R N
(¢) CH3;-CH =CH, M X K, C}’207/H; v

NO,
(d) @ Sn/HCI 7



